FM =

PN}
=
XN XH: OFS
oS = aaT
3

el DIETE/\I*E*XQ% (et
% 5 15|
SN Y- SAEA) - MRAY - BES 01l &k o i 52
Ry 292,114,544 305,008,574 212,894,030
= 163,432,100
s 62,198,000
J| 222,990
= 66,261,454
s B8 2 OIXH(S#E /Mot - E) 292,065,791 304,959,821 A 12,894,030
= 163,432,100
s 62,198,000
J| 222,990
= 66,212,701
BZII=ANE &= 131,929,800 123,531,615 8,398, 185
= 130,440,000
= 1,489,800
SZIZANE 2Y - 22 6,000 6,000 0
202 044l 6,000 6,000 0
01 SO HI 6,000 6,000 0
OEIIZAE 22 & NE=EH 6,000
St=HMeld ZX(=1) 156,654,500 28,464,815 A 12,810,315
= 14,870,000
& 784,500
403 AXISHHS X201 & 15,654,500 28,464,815 A 12,810,315
= 14,870,000
= 784,500
01 HXEMAEE X 15,654,500 28,464,815 A 12,810,315
Oot=HelE &X 15,654,500
= 14,870,000
= 784,500
Stz Ful(=212) 70,480,000 63,989,000 6,491,000
= 70,480,000
403 XM S0l H 70,480,000 63,989,000 6,491,000
= 70,480,000
01 RXIEHAEE = 70,480,000 63,989,000 6,491,000
Ost=22 Fl 70,480,000
= 70,480,000
s0HE OlSots== Ax1(=21) 18,435,300 9,745,800 8,689,500
= 17,736,000
= 699,300
403 XSS AH201H 18,435,300 9,745,800 8,689,500
= 17,736,000
= 699,300
01 XX EH A2 E = 18,435,300 9,745,800 8,689,500
Os0E& OSot=& &1 18,435,300
= 17,736,000
= 699,300
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SH 2ESED
Hz: o2z 28 2 XM (EH/Mdotex - =E)
Cel: BEIEAL 25 (ctel: e
SN -EB .S (SH) - NEAY - BES O &k 2 b HZE2
ot 2AH| BTLY U2 X2(=21) 16,540,000 16,739,000 A 199,000
= 16,540,000

403 XX S HE X201 A 16,540,000 16,739,000 A 199,000
= 16,540,000

01 IXSHMA=2E X 16,540,000 16,739,000 A 199,000
Ootx=22HH| BTLYUHZE X2 16,540,000
= 16,540,000

HOQ SHH2lE EX(=21) 1,725,000 600,000 1,125,000
= 1,725,000

403 XX S M S K201 N 1,725,000 600,000 1,125,000
= 1,725,000

01 XIS A28 X 1,725,000 600,000 1,125,000
OHH? Stx=Held AX 1,725,000
= 1,725,000

CSol422 HUXIA =X (=21) 1,765,000 1,258,000 507,000
= 1,765,000

403 XX S M S K201 A 1,765,000 1,258,000 507,000
= 1,765,000

01 MXISHA=2E X 1,765,000 1,258,000 507,000
OL-Zot=2gE dUXA =X 1,765,000
= 1,765,000

S XMeAMEAE(2D) 500,000 621,000 A 121,000
= 500,000

403 XX EHHE X201 A 500,000 621,000 A 121,000
= 500,000

01 RIXSHMA=2E X 500,000 621,000 A 121,000
O = XMelAl & A 500,000
= 500,000

NEERZ2Z2HEAE X (212) 3,415,000 1,758,000 1,657,000
= 3,415,000

403 XX SHHS K201 ™ 3,415,000 1,758,000 1,657,000
= 3,415,000

01 AEXISHHMA2E X 3,415,000 1,758,000 1,657,000
OIN=EE=S3SKH2AE &X 3,415,000
= 3,415,000

IIEEEZ2Z2XHEIAAE N (=D) 3,409,000 350,000 3,059,000
= 3,409,000

403 XX SHH S X2 0| | 3,409,000 350,000 3,059,000
= 3,409,000

01 AEXISHHMA2E X 3,409,000 350,000 3,059,000
OIIEsE2a33SH2AIE N 3,409,000
= 3,409,000
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SN ARRSHD
Hu: 22 2 U NIXMD(BB/MGLEE - £H)
cel: +MEF A CERLD
. 4
SN FH-S(BH) - MRAY - B Ol &k o8 e 2
=d&F e 20,991,565 16,448,476 4,543,089
= 8,462,000
J| 222,990
< 12,306,575
MEHGHE SRALY (MEALY) 10,811,000 6,650,000 4,161,000
403 XSS 201 ™ 10,811,000 6,650,000 4,161,000
01 AHXIEMA=2E X 10,811,000 6,650,000 4,161,000
ONEH MENGIE SR AIG (EF)(HEH) 3,500,000
OHHE MEHSIHESRAIS (R F)(HE) 3,577,000
Ox=Y® MEGIESBAIY (&) (HE) 196,000
OUstd MEHGHE SR AL (BE)(HE) 1,040,000
OSXNE MEGIESJAIG (04)(H &) 198,000
OLLRAE MESIE=SZ M (EA)(XE) 1,500,000
O2EE MEIGIESRAIS (24)(HE) 800,000
HEI M2 AL (=1) 9,373,507 8,808,250 565,257
=2 8,462,000
= 911,507
403 MHXSHHME 20l H 9,373,507 8,808,250 565,257
= 8,462,000
= 911,507
01 AXIEMA=2E X 9,373,507 8,808,250 565,257
OHIEL2E ML A 9,373,507
= 8,462,000
= 911,507
HEQAEMZAS 106,400 107,500 A 1,100
207 AR IH Y| 20,000 20,000 0
01 A EHHI 20,000 20,000 0
OHIEEE ZelXY =MEH 2LIHEY EX 20,000
403 XAtXISHMS K201 A 86,400 87,500 A 1,100
01 AtXIESMA2Ex2 86,400 87,500 A 1,100
ONdINE EESNHZY SLATHAY 86,400
Ss240 JI329ZH(21) 5,150 6,150 21,000
J| 5,150
201 B2 500 1,000 A 500
J| 500
01 At 22l tl 500 1,000 A 500
oHdsd=A Jl=s 29 500
| 500
202 04l 4,650 5,150 A 500
| 4,650
01 =LA Bl 1,000 1,000 0
oHdsL=H LA 1,000
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SN AEBED
Hu: 922 B UL HAND(HZ/LLET - 2F)
ool AEBY N (cHol: &8
2N -3 - (3H) - NHEAMY - BE= Ol &4 ﬁlgi Hws2
p T,000
04 2301 bl 3,650 4,150 A500
ogse LXK Heleis 3,650
ol 3,650
B4 J32YAH(2D) 20,500 21,000 A500
p] 20,500
201 LBt | 3,000 3,000 0
p] 3,000
01 At 2relt| 3,000 3,000 0
O KA MAH S 3,000
p] 3,000
202 01 bl 17,500 18,000 A500
| 17,500
01 2L 01 bl 7,500 8,000 A500
Ot Y4H YRET 7,500
p] 7,500
04 2501 bl 10,000 10,000 0
ogune LXK Heleis 10,000
p] 10,000
BULN AWBHEE VAL (2D) 91,000 93,000 A2,000
ol 91,000
403 XX S A S TH 0l ® 91,000 93,000 A2,000
p] 91,000
01 AtXICHM A28 91,000 93,000 A 2,000
ORINCHH +HSHEE X2 91,000
p] 91,000
B4 FONAAI(2D) 4,340 4,340 0
p] 4,340
202 01 bl 4,340 4,340 0
J| 4,340
04 2501 bl 4,340 4,340 0
OFQUNAAY LT ofeleis 4,340
ol 4,340
SN +HYEY 20 2¢(21) 52,000 52,000 0
p] 52,000
101 Q1248 52,000 52,000 0
p] 52,000
04 IIAR22RER % 52,000 52,000 0
OS2I QY| 52,000
ol 52,000
=23 2HSTY(2D) 90,000 90,000 0
bl 50,000
= 40,000
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SN ARRSHD
HE: g2 2 2 INKMD(FB/LGLE - 27)
cel: +MEF A CEEREE
% 5 15|
SA B S (BH) - MEMY - BES Ol & 24 i BlRE2
307 212+0| & 90,000 90,000 0
J| 50,000
= 40,000
02 Q1A MAY BT 90,000 90,000 0
ozd 2N 2 TY 90,000
bl 50,000
= 40,000
LEQY SZH AY Ol O 15,600 15,600 0
201 Yut2 F Y| 15,600 15,600 0
01 AL 22l bl 6,600 6,600 0
0+2RY M =& 6,600
02 T2l 9,000 9,000 0
O+TRYH BRANAY X - 24 9,000
HolBta K2l AL Sler e 422,068 600,636 A 178,568
308 XX S S0 ™ 422,068 600,636 A 178,568
B Y EREES 422,068 600,636 A 178,568
O Gt =HRIAL Fletael N 422,068
S0 JEHD 203,076 491,880 288,804
8% A/ 2E FX 56,800 62,700 A5,900
201 Yyt HH| 24,800 30,700 A5,900
01 AL 22l bl 24,800 30,700 A5,900
OBLRY s &S 15,000
08 WX 25 Y4 B2 9,800
307 212H0I A 32,000 32,000 0
EE N EEES 32,000 32,000 0
OB A - MEf - 25 AX B2H 32,000
AXE HNAD =7 21,000 24,000 A3,000
201 Yut2 F Y| 3,000 4,000 A1,000
01 AL 22l bl 3,000 4,000 A1,000
OMEGIHEZY 24T S +22H %7 3,000
202 01t 18,000 20,000 A2,000
NIEREE 18,000 20,000 A2,000
O4+WEHFBH L £X2 HAHD 18,000
QM AL B2 55,500 55,500 0
201 Lyt gl 2,500 2,500 0
01 AL 22l bl 1,500 1,500 0
OMEH 2RUAMEE 1,500
02 222l 1,000 1,000 0
CELEEEET 1,000
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A
X XH -
(=

S

SI(3IH) - HEMY - BAS Ol &t 08 b HRS2
ol 53,000 53,000 0
MNEXZ 15,000 15,000 0
AN E S 2el 15,000
38,000 38,000 0
MNEZ U233 38,000
=22 AE A 69,776 99,680 A 29,904
=IRS! 69,776 99,680 N 29,904
P 69,776 99,680 N 29,904
2 Al 69,776
== 138,766,300 164,186,600 N 25,420,300
= 24,530,100
2 62,198,000
= 52,038,200
== F4d 3,900 3,900 0
3,900 3,900 0
3,900 3,900 0
& &2 § 8X&8d 3,900
(=1) 64,251,000 65,715,000 A 1,464,000
= 58,898,000
& 5,353,000
XE0l ™ 64,251,000 65,715,000 A 1,464,000
= 58,898,000
& 5,353,000
01 AEXISHHMA2E X 64,251,000 65,715,000 A 1,464,000
T SUSAY 64,251,000
= 58,898,000
c 5,353,000
N (M BAY) 39,293,000 46,702,000 AT7,409,000
HSA20l& 39,293,000 46,702,000 AT7,409,000
01 AEXISHHMA2E X 39,293,000 46,702,000 AT7,409,000
A2 XX EH) 3,000,000
ANESH 2XH(HE) 790,000
HAaH(AEH 474,000
H(MEt 1,580,000
GRERCSEZD) 948,000
ot & 2CHHI (& &) 1,580,000
0|2 2 H (& & 790,000
MNH (& e 4,740,000
MO 2CHH (X &) 790,000
AOH. AT - 28 (HEH 3,950,000
F& 2CHH (M &) 4,424,000
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SH 2ESED
Hz: o2z 28 2 XM (EH/Mdotex - =E)
el otEE 2 OEF 23 EERED
SN -EB .S (SH) - NEAY - BES O &k 2 b HZE2
CESANL2AR HUXA IR (=2D) 608,000 907,000 A 299,000
= 608,000
403 XX S HE X201 A 608,000 907,000 A 299,000
= 608,000
01 IXSHMA=2E X 608,000 907,000 A 299,000
OLFasZZ HUXA 608,000
= 608,000
AQIE Xgala=x X (=21D) 19,153,000 39,731,000 N 20,578,000
= 19,153,000
403 XX S M S K201 N 19,153,000 39,731,000 N 20,578,000
= 19,153,000
01 AIXISHHMA2E X 19,153,000 39,731,000 N 20,578,000
OADIE AYMaEE X 19,153,000
= 19,153,000
ML e HWEAIE (=21D) 1,900,000 649,000 1,251,000
= 1,900,000
403 XXM S K20l N 1,900,000 649,000 1,251,000
= 1,900,000
01 AEXISH MR 22X 1,900,000 649,000 1,251,000
o8& el I 1,900,000
= 1,900,000
M 2423 AIE AXAIE(21) 1,319,000 371,000 948,000
= 1,319,000
403 XX EHHE X201 A 1,319,000 371,000 948,000
= 1,319,000
01 RIXSHMA=2E X 1,319,000 371,000 948,000
OSNE S+ AE &X 1,319,000
= 1,319,000
LS 222 i XA (21) 720,000 0 720,000
= 720,000
403 XX SHHS K201 ™ 720,000 0 720,000
= 720,000
01 AEXISHHMA2E X 720,000 0 720,000
orE:E s+ H X 720,000
= 720,000
M EX AMYEAIY 105,000 0 105,000
403 XX S M S K201 A 105,000 0 105,000
01 AEXISH MR 22 X 105,000 0 105,000
O&E 44l X AMYAMH 105,000
SI&A 25HH 175,050 301,250 N 126,200
OtMGID MRS ssSFEA =4 175,050 301,250 N 126,200
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SN AEBED
F: ot22 28 2 XMI(E /Aot - =)
&R StEA 2o (et
SN P SA(BH) - MBAY - BYS 01l &k o e 52
202 (4l 2,000 1,250 750
01 =LH A HI 2,000 1,250 750
OQtMGtD IHRE SSstaa =4 & 2l 2,000
403 XS S0l & 173,050 300,000 A 126,950
01 XM= X 173,050 300,000 A 126,950
OZ=st&A e - 2el 173,050
HY2IZH (=Z 2N D) (DIEH/DIEH) 48,753 48,753 0
JlE3d i 48,753 48,753 0
fA2E Jl2Zdl 48,753 48,753 0
201 24l 34,719 34,719 0
01 At 22l bl 34,719 34,719 0
ORKNESE AR 22l 34,719
202 044l 9,234 9,234 0
01 =LHA Bl 9,234 9,234 0
ORMEY =UOH 9,234
203 YR =&l 4,800 4,800 0
04 RN2EHRF=TH| 4,800 4,800 0
©302! Ol at 400,000 x12& 4,800
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